>
@)
S,
HHOO
E‘D.ZS
o
%)
2
o)
© 0.2
o
—
0.15
0.1
0.05
)
2
%)
h
=
<
e 1
ke
T
i
0.5

7000 GeV pp Jets
[ r 1T r T e e e T T T

i Splitting scaIeV d,, (anti-kT(l.O), 200< p_< 300, ly| < 2.0) ]

m ATLAS
. --0-- Pythia 6.428 345 _
— —A— Pythia 6.428 370 —
B Pythia 6.428 ambtl
——— Pythia 6.428 z2

= —

i i _O--O ]

— o0 o0 g _5--© 6 ]

B oy e

: /O’ :

— ,/ e — A /‘/0———.\-\ -
A —= %

— IG/ p—
o

| " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1

0 10 20 30

sqrt{dzg} [GeV]

Rivet 3.1.0, = 14M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


